Assembly Instructions

Please check for shipping damage immediately after
unpacking. If no damage is evident proceed to steps below. If
damage is present, contact the shipper immediately.

Parts Enclosed:

1- Propane hose and regulator assembly
8- 1/4 inch X 2 inch cap screws

8- 1/4 inch flat washers

8- 1/4 inch lock washers

8- 1/4 inch nuts

1- leg with wheel assembly

1- leg with floor plugs

2- 7/16 wrench’s

2- Handles with screws

©CoNoA~WNE

Steps to assemble:

=

Install one handle on lid and one handle on the tank

2. Place leg with wheels into bracket on bottom of steamer opposite drain
plug end while aligning holes for 1/4 X 2 inch cap screws. Install all
four cap screws and tighten with wrench.

3. Place leg with floor plugs into bracket on drain plug end, install all
four 1/4 X 2 inch cap screws and wrench tighten.

4. Install hose / regulator assembly onto pipe adapter and tighten with
wrench (wrench not supplied).

5. Add water to steamer tank and connect hose / regulator assembly to
propane tank

6. Light burner while slowly opening needle valve on hose assembly.

Check for leaks at hose adapter connection and re-tighten if necessary.



